Margaret Matchett
Week 5
24 March 2009

7th Grade Math (on level)
Modeling Integers – Multiplication & Division


Multiplication Warm-up – Day 1
Complete the following multiplication table:

	X
	-2
	-1
	0
	1
	2
	3
	4

	-2
	4
	
	0
	-2
	-4
	-6
	

	-1
	2
	1
	
	-1
	
	-3
	-4

	0
	
	0
	0
	0
	0
	
	0

	1
	-2
	-1
	
	1
	2
	3
	4

	2
	
	-2
	0
	2
	4
	
	8

	3
	-6
	-3
	0
	3
	6
	9
	12

	4
	-8
	
	
	4
	8
	
	16


VOCABULARY – DAY 1
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VOCABULARY – DAY 1
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Teacher Transparency – Day 1

The numbers 4, 6 , and 24 create a multiplication and division fact family.  The collection of diamonds above represents that family.

	◊
	◊
	◊
	◊
	◊
	◊

	◊
	◊
	◊
	◊
	◊
	◊

	◊
	◊
	◊
	◊
	◊
	◊

	◊
	◊
	◊
	◊
	◊
	◊


Here are the four equations for this fact family:
[image: image6.png]4 X6 =24
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What other equations could we write for this fact family, using our sign rules?

If we colored the diamonds in red to represent negative, then what equations could we write for this fact family, using our sign rules?

Day 1 – In Class Worksheet

Fill in the correct term for each sentence:
· The product of a negative integer and a positive integer is ______________.

· The product of two negative integers is __________________.

· The product of two positive integers is _______________.

Find each product:

(-4)(7) =  _____________

-4 × 7 = _____________

(9)(10) = ____________

 -5 × -8 = _____________

8 × -5 = _____________

6 × -4 = _____________

(-2)(-3)(4) = ___________

-2 × 3 × 4 = __________

(-2)(3)(-4) = __________

-2 × -3 × -4 = __________

(2)(-3)(-4) = __________

2 × -3 × 4 = __________

Solve Each Story Problem:

1. A small theater has 12 rows with 20 seats in each row.  How many seats are in the theater?  
2. Justin is able to stack six-packs of soda on the floor of his closet – 3 rows with 2 six packs in each row.  (He thinks the world is coming to an end and he really wants to hoard some sodas!)

a. How many six packs can he stack in a single layer?
b. How many sodas can he stack in a single layer?
c. If he can stack up 6 layers of six packs, how many six-packs can he save?
d. How many sodas will he have then?

3. Erica can buy a pound of roasted peanuts for $3.00.  How much will it cost her to buy 6 pounds of peanuts for her party?

Division Warm up - Day 2
Jasmine got a box of candy for her birthday.  It has 16 peanut butter cups and 35 sour apple gummy worms…  Jasmine wants to share her candy with 4 of her friends at school. Jaden cannot eat peanut butter (she will die).  How can Jasmine split the candy equally between herself and her 4 friends?
# of peanut butter cups for each girl (except poor Jaden) = 

# of gummy worms for each girl = 

Jasmine and the other girls felt sorry for Jaden, so they decided that Jaden could have some of their gummy worms to make things more even.  If each girl gave Jaden 2 of their gummy worms how would the split look now?

# of gummy worms for Jaden = 

# of gummy worms for each of the other girls = 

VOCABULARY – DAY 2
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Day 2 – In Class Worksheet

Fill in the correct term for each sentence:
· The quotient of a negative integer and a positive integer is ______________.

· The quotient of two negative integers is __________________.

· The quotient of two positive integers is _______________.

Find each quotient:
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=  _____________

[image: image18.png]23/(77>



 = _____________
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= ____________
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 =
     _____________
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= _____________
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= _____________
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 = __________
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 = _______
[image: image32.png]42 +(-7)+3



 =________
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 = __________

[image: image36.png]—-51 +(-3)




 = _______
[image: image38.png]—51+ (=3




 =____

Algebra:  Evaluate each of the following if [image: image40.png]x= —2,y=3
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 ____________________________________________________________________
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___________________________________________________________________
Solve Each Story Problem:

Roberto is organizing a bus trip to Fiesta Texas.  He needs to order buses to transport 288 people.  If each bus can cary 48 passengers, how many buses does Roberto need to order?
Ms. Matchett’s 1st period class has been superb this last week.  She has 22 students in this class and 100 stickers.  How many stickers does each student receive if they all get the same number of stickers?  How many stickers are left over for the rest of her classes?
PEMDAS Warm-Up – Day 3
Jennifer had 18 pieces of candy that she split equally with her sister Sarah (nice Jennifer).  Their mother rewarded Jennifer with 3 more pieces of candy for being so sweet.  Jennifer’s dad didn’t realize she had already been rewarded, so he said he would double the amount of candy she had (really nice Dad).  How much candy does Jennifer have now?
Write down one expression that shows ALL of her candy transactions.

Get a calculator out and enter your expression into the calculator.  Did you get the same answer?

DAY 3 – Teacher Transparency – PEMDAS
	Please
	Parentheses
	Anything in parentheses must be completed before the rest of the problem.  What’s inside the parentheses uses the PEMDAS order of operations, too – from left to right.

	Excuse
	Exponents
	Exponents are done before any other multiplication or division

	My
	Mulitplication
	Multiplication and division are done from left to right before addition and subtraction

	Dear
	Divison
	

	Aunt
	Addition
	Addition and subtraction are done from left to right after all the other operations are complete

	Sally
	Subtraction
	


Example 1:  5 × 3 – 4 ÷ 2

Example 2:  4 + 2 – 3

Example 3: (18 ÷ 2 + 3) × 2

Example 4: [image: image46.png]21— 3% +10 + 2




DAY 3 – PEMDAS and Squares Worksheet

The model below can be used to find the square of what number?  _______
	◊
	◊
	◊
	◊

	◊
	◊
	◊
	◊

	◊
	◊
	◊
	◊

	◊
	◊
	◊
	◊


Complete the following equation using exponent notation:  16 = _______.

Complete the following:
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______
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 ______
Simplify the expressions using the correct order of operations:
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VOCABULARY – DAY 3
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DAY 4 – STATION PACKETS
Vocabulary Packet – a mix and match - vocabulary words to definitions and examples

TAKS Practice Worksheet – taken from released TAKS exams, mulitiple choice removed

PEMDAS Packet – Worksheet with multiple problems needing PEMDAS – give a ‘walk-through’ of finding the area of a composite figure – draw the picture and fill in the data for them – they just have to calculate it correctly

DAY 5 – QUIZ
1. Rank the following statements 1, 2, 3, 4 according to the proper order of operations:

______  Complete all multiplication and division in the order it appears from left to right.
______  Complete all addition and subtraction in the order it appears from left to right.

______  Complete all computation inside the parentheses.

______  Complete all exponents in the order they appear from left to right.
2. Simplify these expressions using the correct order of operations:

a. [image: image76.png]



b. [image: image78.png](8+5x4





c. [image: image80.png]6—20+(-5)(-2)=




d. [image: image82.png](3-2x5)*=




3. Devon had $125 in her bank account at the beginning of January.  During the next 3 months she made 3 deposits of $60 each and 2 withdrawals of $15 each.  Write an expression to represent the total amount of money she had in the bank at the end of March after all of her deposits and withdrawals.  Simplify/solve the expression.
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